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Territory-wide System Assessment 2014
Primary 3 Mathematics
Marking Scheme

Item No. Answers Mark Remarks
1 72 574,70 954, 70 386 respectively 1 Must be all correct
2 hundreds 1 Do not accept wrong spelling
3 Any 5-digit number larger than 1
23 568 and smaller than 24 844
4 854 1
5 490 1
6 C 1
7 362 1
8 48 1
9 C 1
10 19 1
11 263 1
12 She saves:
(1) 134 x 2 — 196 1 Method Mark: other correct methods
are also acceptable
(2) =72 dollars 1* | Answer Mark (*please see remarks
below)
(3) 1% | Presentation Mark (*please see
remarks below)
13
Q) 211 +8 1 Method Mark: other correct methods
are also acceptable
(2) =26...3 1* | Answer Mark (*please see remarks
below)
3) She can make 26 hair clips at mostand | 1*x | Presentation Mark (*please see
3 cm of ribbon are left. remarks below)
14 370 1
15 17, 50 respectively 1 Must be all correct
16(a) 6 1
6
16(b) 16 1
17(a) Write down any fraction which is equal 1
to 1
17(b) Any fraction smaller than % 1
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line given in the figure, e.g.:

18 Circle ‘almond’ 1

19 Shade % of the whole diagram 1 Holistic marking
20(a) 178, 90 respectively 1 Must be all correct
20(b) Circle an amount of <$21.10° 1 Holistic marking

21 D 1
22(a) centimetres /cm 1 Do not accept wrong spelling
22(b) grams /g 1 Do not accept wrong spelling
23(a) Thursday 1 Do not accept wrong spelling
23(b) 3 1
23(c) 21%", August respectively 1 Must be all correct

Do not accept wrong spelling

24(a) 15, 8 respectively, circle ‘morning’ 1 Must be all correct
24(b) 1, 30 respectively 1 Must be all correct
25(a) 15, 4 respectively, circle ‘afternoon’ 1 Must be all correct
25(b) 1, 13 respectively 1 Must be all correct

26 B 1

27 450 1
28(a) 1500 1
28(b) 300, circle ‘heavier’ 1 Must be all correct

29 A 1

30 C 1

31 Circle ‘C’ 1

32 B 1
33(a) F 1
33(b) B 1

34 D 1

35 The drawn line must be perpendicular to the| 1 Holistic marking
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36 1 Holistic marking
37(a) Circle ‘smaller than’ 1
37(b) Circle ‘a right-angled’ 1
38(a) Fudge, 6 respectively 1 Must be all correct, wrong spelling is
acceptable
38(h) 1, circle ‘less’ 1 Must be all correct, wrong spelling is
acceptable
38(c) 41 1
39 - - - - -
(@)} Title: Number of Boxes of Fruit Juice in 1 ?C%gzigbzgarklng, wrong spelling is
the Restaurant Other suitable titles are also acceptable,
but must include “number of boxes”,
“fruit juice” and “restaurant”
2) From top to bottom: 1 | Must be all correct
Orange, Mango
(3) Orange: total 10 pictures 1 | Holistic marking, must be all correct
Apple: total 9 pictures Do not accept other pictures
Mango: total 8 pictures
Grape: total 8 pictures

Remarks: *Answer Mark - (1) Just the correct answer without showing any mathematical
expression(s), award the Answer Mark.
(2) Mathematical expression(s) is/are incorrect, do not award the
Answer Mark.
(3) Poor presentation in the mathematical expression(s) or workings
but correct answer given, award the Answer Mark.

**Presentation Mark: (1) Mathematical expression(s) is/are correct, but wrong answer
given, award the Presentation Mark.

(2) Mathematical expression(s) is/are incorrect, do not award the
Presentation Mark.

(3) Presentation mark includes holistic assessment of
mathematical expression(s), units (missing unit or wrong
unit), explanation, statement/conclusion and use of
symbols(including the equal sign). etc.

© HKEAA 2014 3



